Faans MODEL 82A
mé\}:ﬂh Mobile-Karrier / Palletizer

The Specialist In Drum Handling Equipment

Recommended Spare Parts Kit for Model 82A Morse Mobile-Karrier / Palletizer
with Serial Number 0509 to 0716 (MMYY)

IMPORTANT
NOTE

4-Digit serial numbers
are simply the month
& year of manufacture

Example: 0802 is Recommended Spare Parts Kit Number: RP82-02.01
August 2002 Kit Description: KIT, SPARE PARTS, 82A SERIES
Qty. Part # Description

2 8160-P WHEEL, 67, 3/4” BRG, 81, 82

2 15-P COLLAR, 3/4” ID

2 3308-P CASTER, 4” SWIVEL, DBL RACE

4 3194-P BEARING, 3/4 ID, 82, 500, 600

1 727A-P RATCHET PLATE CPT W/ TAB 1/4”

1 1296-P HHCS, 1/4-20 X 7-1/2 GR5

1 1297-P NUT, 1/4-20 REV HEX LOCK

1 4079-P HHCS, M8 X 60 MM CL8.8, BMM

1 4081-P NUT, M8 ESNA, 8MM

1 4414-P COVER, CINCH CHAIN, FLEX PVC

1 5017-P CHAIN, CINCH, 9/32, 38 LINK

MorseDrum.com
Copyright 2016 - Morse Mfg. Co., Inc. Form RP82-02.01 (0509-0716) (Updated September 14, 2016 3:34 PM) 1



